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Polynomial Functions
1. Describe how to transform the graph of 
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2.    Find the inverse function 
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 for the function 
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 Then, graph the function and its inverse on graph paper.

3.
Choose True or False for each statement about inverse functions.


A
If a function contains the origin, then its inverse contains the origin.
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 False


B
If a function has 3 x-intercepts, then its inverse has 3 y-intercepts. 
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C
If the slope of a linear function is less than 1, then the slope of its inverse is greater than 1. 
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D
If a function is one-to-one, then its inverse is a function. 
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5.
Choose True or False for each statement about the function 
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A
The function is even.
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B
The function is negative where 
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C
As 
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D
The function is symmetric about 
the origin.
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Describe how the graph of g(x) is related to the graph of f(x)  x3.

6.
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8.
A cubic function with general equation 
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 is graphed below. Write a specific equation for g(x).

10.
Choose True or False for each statement about the function 
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A
The function is even.
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B
The domain of the function is 
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C
The range of the function is 
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D
As 
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For 11–12, Sketch the graph of the following.

11.
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14.
Write a quartic function in intercept form for the given graph, whose 
x-intercepts are integers. Assume that the constant factor a is either 1 or 
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Polynomials
1.  
Factor
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   The radius of a cylinder is 
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 and its height is
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 Find a function for the volume of the cylinder.

For 5-8, factor the polynomial completely, or identify it as irreducible.


5.
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7.
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8.
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9.
Use synthetic substitution to find 
[image: image49.wmf](2)

p

-

 and 
[image: image50.wmf](1)

p

-

 for 
[image: image51.wmf]43

()41616.

pxxxx

=+--



11.
Use long division to find the quotient and remainder. Write the result as
dividend  (divisor)(quotient)  remainder.
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12.
Use synthetic division to find the quotient and remainder. Write the result as
dividend  (divisor)(quotient)  remainder.
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Polynomial Equations

5.  
List all of the possible rational roots of 2x3  3x2  3x  6 = 0.
Solve the polynomial equation by finding all roots.

7.
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9.
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Find all zeros of the function. Include multiplicities greater than 1.

10.
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14.
Are each of the following roots of the function 
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A
8
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B
0
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D
2
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Write a polynomial function of least degree and leading coefficient 1 that has the given roots.


15.
3, 
[image: image69.wmf]6

 


16.
4, 
[image: image70.wmf]7

i


module


5








module


6








module


7












_1453037583.unknown

_1567339820.unknown

_1599628540.unknown

_1599628850.unknown

_1599629254.unknown

_1599629438.unknown

_1599628684.unknown

_1567340455.unknown

_1567341336.unknown

_1567341465.unknown

_1567340984.unknown

_1567340057.unknown

_1458195871.unknown

_1567339698.unknown

_1456027946.unknown

_1458195848.unknown

_1453607290.unknown

_1453623664.unknown

_1452946602.unknown

_1453037484.unknown

_1453037580.unknown

_1453037581.unknown

_1453037503.unknown

_1452949395.unknown

_1453037474.unknown

_1452949420.unknown

_1452946630.unknown

_1452949368.unknown

_1452946530.unknown

_1452946555.unknown

_1452794728.unknown

_1452794747.unknown

_1452793506.unknown

_1452785187.unknown

